M-.L @ oo bon so thap phan, thir tu cac phép toan c6 dau ngoac

Tén: Ngay thang: _ Diém:_
8+2+2,1)x54= (24+-6-6,1)x4,4 =

3,3-5,6(5,2+6)= 4(5,3+5,9)+2=

8(6,2—2,6)+2= (5,9—-3,3)x5,4-3,2=

4+2-4,5)x53= 203,6 —2,7)+4=

(5+5,4)x6,6+3,7= (3,8—2,7)x4,4—-3,2=
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m-.t @ oo bon so thap phan, thir tu cac phép toan c6 dau ngoac

Tén: Ngay thang: _ Diém:_
8+2+2,1)x54=3294 24+-6—-6,1)x4,4=-924
3,3-5,6(5,2+6)=-59.42 4(5,3+5,9)+2=224
8(6,2—-2,6)+2=144 (5,9—-3,3)x5,4-3,2=10.84
(4+2—-4,5)x5,3=-13.25 20(3,6 —2,7)+4=45
(5+5,4)x6,6+3,7="72.34 (3,8—2,7)x4,4—3,2=1.64
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